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— WY PRIP PR DY
Since they are not well versed in the requirement of s7aw®

OVERVIEW

727 states that the reason the 2°n3n require a *"n7an MOV to say 1"92 is
because the people of *"717% are not °p2 in the requirement of 72w%. There are
many requirements in 1v°x M377, and M50IN wonders why is it that they are
not °p2 (only) in 7MWY, but are *p2 in all other 1°v° M%7, It is also necessary
to understand how saying 1952 assures us that it was written 72w5.

nvoINn asks:
- PPV MAYN INUN PP PNT NNPYY NIY INI 9NN ON)

And if you will say; why is the requirement of m»w% different (from all
other requirements of writing a v3) that the people are not well versed in

this requirement more than the other laws of 15w, that people are aware of -
= 19592 ONNI DI’ 2NN NNV INY NIPWI 921NN 1D

for instance; the m>a%n that these following v are 7109: if the V) was
written while it was attached to the ground'; i.e. it was written on a leaf of a
tree, or if he changed the husband’s name or the wife’s name? in the 03 and
did not write the correct names, or if the v was written in the daytime,

and the witnesses signed it the following night’. In all these cases the v3 is 2108
However we do not mention that the reason the 12w says 1"92 is to assure us that none of
the above happened. Seemingly because we assume that whoever is involved in the
writing of the v3 is aware of all these 2°2105. Why would they not be aware of the 9105 of
mwh X9 as well*?

moon will now present a possible resolution to this question and refute it:

- %90 NYIYT NNV VPIT 91217 PPN)
And one cannot say that the reason 727 mentions that we are concerned
that it was not written 2@ is because it is more common than the other

I'See 2,80 77 mwn.
2 See X,b 77 mwn. See there also 7w 7"7 '0W, who interprets 121 71w to mean that s/he was called with
different names in different places, and only one name was written w"»y.
3 See ®,1° mwn.
4 In fact, since the requirement of 72" is an active and positive requirement in every 3, it would seem that
everyone would be aware of it, much more than the other 12109 mentioned in N®voN, where no active
requirement exists (i.e. no one usually writes a 72112 v, that people should be aware that there even is an
issue).

1

TosfosInEnglish.com



('87) *9% 71"7 010 2,2 V3 L7032

0’2109 mentioned above, for it may be likely -

— 1Y 97YM NNV NNYI MY MVYY V) NIYNT
that a husband who wishes to divorce his wife may find a written va that a
stranger wrote to divorce his wife whose name of the husband in the v3 is
the same as his name, and the woman’s name is the same as his wife’s
name and he will send this v} to his wife, without even going to a scribe, who

would be aware that this v3 is 2109 -
= MRYY Y AN MINYIN N0VIYW 2N 5]’\?’) DAV INIY DIV 99900 oM

And in addition even if the husband will go to a scribe® for the w3, it is
possible that the 9210 who is accustomed to write the blank forms of 5w,

On account of his routine he may inadvertently forget and he will write
this particulars husband’s and wife’s names filling in their names in the form (for
practice).” When the husband will come to this 1910 to write a 3 for him, the 1910 may
give him this finished v3, not realizing that he wrote it 7nw? X5w. Therefore this problem

of 1w K7W is more likely than those that N1901n mentioned previously, and therefore that
is why 727 mentioned just this problem. However in truth -
— P02 MIYN INY PTH NI

The same holds true for all the rest of the laws of °ws3, that the people of
5"n are not °p2 in them as well. Therefore, when the 12w states anmi *1921 2021 °193, he is
testifying that the v is w3 in all respects, not only was it written 7nw9, but also all the
ma%7 of P, including those mentioned by mooin previously, were strictly adhered to.®
This would seem to answer M20IN question; that there is no difference in the knowledge
of the laws between 11»w% and the other 1w’ M%7, it is just that it is more likely that a v
may written 7aw% Row, than other violations; therefore 7127 mentioned 7w 1PRP2 PRY.

mooIn refutes this answer:

- 2957y $9NYY DIV Y02 MY 0997 /)a (3,0 97 PV 9N NATION N
This is not so, we cannot say that 727 was concerned about all Pwx ma%3
and the testimony of 1"921 1"92 validates that all m2>%7 were adhered to,
because later the X772 quotes a Xn» 2 which says: that 2swi sws are
similar to the m1uw that are used to set free 0°1v1> @72y, in three ways -

5 See X,19 77 mwn, that a 1910 may prepare in advance the forms of 1v°3 provided that he leaves out the
pertinent 7nwY information which is filled in at the time of the w7 nn.
® We may assume that the scribe will be >p2 in the requirement of 2w», as opposed to the populace at large.
" Perhaps he heard that there is strife in their marriage.
8 See ‘Thinking it over’ # 4.
9 The (X,1) Xn»12 enumerates the three similarities: a) X*21n91 T9m% N, that there is a requirement to say
1"9211"03, b) an N> 7Y is W3 only by 0°72y *MNw o°w1 w3, and c) that NIXITW are 9109,
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— NNYY RIN NN T°9D)

And the X713 asks on the Xn»72: but there is the requirement that both these

nuw have to be written 7%wY. There is a fourth similarity between 2w *v» and
0’72y *NINw, why does the Xn»72 state only three?! The X713 continues:

— NI P91 139N NAYY NaYYa

It is understood, according to ;7129, why the Xn*92 did not mention w5,

because 72WY is the same as X¥2%Y 9% which the xn»12 did mention. X*2m1 791
is the requirement to say 1"521 1"952 both by 72y > w1 2°w1 *v), when they are sent
from either >"X% 2"1 or from 5™n% >"X. Therefore according to 727 the Xn>>72 could not
have said both w9 and RX°2m 72, since the whole 2117 to say 1"92 by X231 79 is on
account of w9, therefore nw? and X°2m "7 are identical.

— NP N29D NON

However according to 821 it is not understood why the xn>™2 did not mention
nnw, since, according to X1 the saying of 1"52 by X2 791 is on account of ovp, and
has no connection to 712w?%. The X3 continues with another question on the &n»92:

— 925N NN NN N29D 1229 DAY )2y
And furthermore according to both ;7239 and X219 there is the 705 of
writing the 70w while it is attached to the ground, which applies both to w31 v
072y MY, so why does not the X072 mention it. This concludes the quote from the
X nx. From this dialogue we see that the previous contention that saying 1"92 validates all
7Y MY including w5 and 12 etc. is incorrect, as MOYIN continues —

— 429N VI XYY XYM P91 Y993 HIYY VP NPT N9 NN

It is evident that according to 1729, only the requirement of mn»wb is
mentioned in the X723 as being included in X221 7991, and therefore the
Xn>72 could not mention WY as an additional similarity because the
requirement of 7»w> and the saying of 1"92 by &°am "7 are identical,
however 92177 is not mentioned to be included in X>am) T7n as oMW is, as is
evidenced by the fact that according to 7127 there is no question why the Xn>72 does not
mention W7 (because it is included in X*2m1 7°911) but there is a question why the ¥n*92
does not mention 7211, so obviously it is not included in X2m 9m. This proves
conclusively that the 1"92 only comes to validate that the vx was written 7nw% and not the
other 1v°) M3%7. Therefore MdoIN original question remains; why is it that they are *p2 in
all other 017, but they are not *p2 in the 17 of maw>.!°

NIB0IN answers:
— PNPA PV MITN Y27 DN 13929 Y9N

10 See ‘Thinking it over’ # 5.
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The n''9 explains that the people of yIR? 7117 are 5pa in all of w3 nobn,
including the M%7 of Y -

- lawat 9958 ©0Y 1PN NIOR NPYY 1Y AN XWAT 70T RN
however this Xw=27 that the 0°non derive from what the 770 writes 7% an23
‘He should write for her’ which the 0°non interpret the word '7%' to mean
mawY ‘for her sake’ that the v3 must be written — specifically for her sake;
this X177 does not appear to the people of ™ as being the substantive
T of the word '77'.!2

This interpretation that the people of "1 know the 7 of nnwb, it is just that they
somehow feel that it is not a correct w17, seems to contradict that which the X723 says,
namely; that the people of 2" are 7aW5 1PX°P2 TR, they are not aware of the 7 of 7aw5.
MooIN therefore continues:

— NRYYT YT PYUIN PR WIND PRIPA PR
And the phrase 'PR’pP2 PR' — ‘they are not 'well versed’, is to be
understood to mean that ‘they dismiss the 7w=7 of 7wy’ 13

mooIN anticipates another question on this interpretation that PX P2 PX means 7wWIT PX:
— Bmp5T y115Y NN

And concerning that which the X3 says later, that we are discussing'® a

time period after the people of "1 learnt the 17 of uw?; this would seemingly
indicate that prior to this time of 1725w nxY'; the people did not yet learn or know the 1°7

of mmw>. This is in contradiction to the n"9 w170, MdOIN answers:
= MYPY INNY VIN9

The meaning of 1725w NK? is not to be understood in its literal sense, but
rather after they accepted the 7wn7 of 'maw® 7%

' mpon does not explain why it was only this w7 that the people of 2" did not accept as opposed to
other mwn7 (2w for instance). MooIn was bothered why they were ignorant of 7w, however mipon
accepts the fact that they rejected only the nwn7 of 7w, A possible explanation: ignorance is by definition
not a conscious decision, therefore Moo wonders how is it that all other laws they know and not this law
of WY (see footnote # 5). However we can accept the fact that they made a conscious (but wrongful)
decision as to the status of the mwn7 of 7aw>.
12 They may feel that this word is coming to teach us something else.
13 Once they did not take this w17 seriously, after a while they may have become less aware of its M7,
therefore in reality they may have been actually 7nw? PR>pa PX.
14X a7.
15 The xm3 there is discussing the case of a M7w who was a wnnw npo; that ovp is sufficient, without
saying 1"92. This presents a problem according to 727. The & 13 answers that this case occurred 117w NN,
so there is no more concern for MW7 XOW.
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Now that we know what the meaning of w5 1PX°p2 X is, mpon will now discuss how
the statement of 1"521 1"92 resolves this concern, for seemingly the m>w makes no
mention of 7»W? in his statement.

- PN AR NAYY 1N IR 195 135959Y N99INT DIVNDN UDT NI
And that which >"w9 explains concerning this question; how do we know
that it was written 7w?7; that inevitably we ask the 2w, once he says 1"52
that he was present at the writing of the v3, whether it was written m2wb
and the %Y says ‘yes’, that it was written 7aw>.

mooIn argues that this interpretation is -

- IR P98 NNYY RNDYT DIV UINNWN NDT ANII PN
not plausible!® for we do not find it mentioned anywhere that 721 is
required to ask the mbw if it was written P —

mooin asks an additional question on *"'w7s:

- HNYIY P98 ON 1799352 NN N1IYY 19 ONT I
And furthermore, that if this is so as *"v claims that we ask the mow if it
was written 7nw?, let the X3 say ‘that there is another difference between
727 and X237, namely if it is required to ask anything additional of the m5w, after
he testifies that 1"5211"92. According to X217 this is sufficient to be 0»pn the v3; according
to 727 however, we are required to ask the mow if it was written 7nw9. Since the X3
does not mention this difference, that proves that there is no difference, and even

according to 727, saying 1"91 is sufficient. The question remains how through his
testimony of 1"92 do we know that it was written 7w5?

N1d0IN answers:
- 1745901 X7 NIYY RNNDT PHYS 13529 92IN)

16 Were we to say that the people of 2" (including the m°9w) are not *p2 in the Pw’3 M377 in general, then
we may be forced to accept s""w explanation that we ask the m°%w if it was written 7nw> (and any other
concerns we may have), for we cannot say that the m>w is testifying that all is well, since they do not know
w3 M. It is not logical to assume that 1521 1"52 means ond2 that all the 017 were adhered to. Once we
accept Moo interpretation that they are °pa in all 1v% M%7 (including 7nwY), they are just not wwIn on this
one 17 of WY, then the M5 understands that the purpose of having him say 1"91 is to assure us that it was
written 7nwY, and as MpoIN concludes 7707 Rp 7AWH XAND. See TR R"wAA.

17 The m°>w who delivers the v3 and has to testify 191 is presumably called to the 7910 where the v3 is being
written and is told to observe all that transpires so that he will be able to testify that he himself saw that it
was written and signed properly. This alerts the n>>w that he is required to make sure that it is being written
WY, a requirement they knew about, but were not scrupulously following. His subsequent testimony of
1"91 assures us that he is testifying that it was certainly written 72w% (that the husband did not find a v
1w MW nor did the 1910 write their names while he was writing 10 "0910 etc.).
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The 5'"9 says that it is assumable that his testimony of 1"91 is regarding

that it was written 1w,
= (" xY 171N 97 ¥71202 2) ©I0VIPA V99D

as v"'w" also explains it in this manner further in the x.

MooIN continues to ask:

- MAVYY BNNI 23939 AN 2303 2IND M MDY IINT NN
And concerning that which the X3 says later on'® why X211 does not agree
with 7727 that the reason for saying 1"92 is on account of 7nWw? PXpP2 PR, for
that cannot be the reason, for does the mwn teach us that the mhw is

required to say: g»®' @anma 91921 aN21 %183, and since there is no requirement to add
the word nnw“ that proves that m»w% is not the reason for saying 1"53. This is s'82)
refutation of 7127. If however we understand that 7°70n Xp 7aWw5 RPNo, as MOOIN just told
us, how are we to understand s'®27 refutation. There seemingly is no need to add the
word 72Ww? since 7°7707 Xp RwH RAND.

mooin replies, that the refutation of X237 should be understood as follows:
- VYN NNYY NHPNDT M)
Granted that it is assumable that he is testifying that the vx was done mew®
- NYTDA 99919 759 10 XD NNIYY 0IVN NIPN 79T 112 0PN Yan
Nevertheless it is not sufficient to assume that 7707 RXp 7nWw9, because since
(according to 1727) the main 73pn for saying 1"52 is on account of 7»w», the

5w should be required to say it outright, so everyone will know without a
doubt that it was done w?, and not to merely assume that it was done 7w"5.

SUMMARY

The meaning of 7nwH 1R°P2 PR is that the 2" °12 in spite of knowing that
there is a requirement that a v3 be written nnwY, as derived from the 2an31 710
b — 09, nevertheless they did not take it seriously. The o°mon were
therefore j7nn that one who brings a >"777a7 ©3 must testify 1"95211"923, which
is assumed to mean that it was 72w onmna) andl.

THINKING IT OVER
1. According to the Xipon is the 7109 of nnwH ROW more apt to happen than

18 This is according to the second interpretation there in >"w= [which states: 7°70n Xp (7wY) Xan0].
19°%.3 105.
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the other w2 “9109?
2. Are all the 0910 in °p2 %" in 7RWH?

3. How are nnw% and ®°2m1 9w ‘identical’ according to 1727, and how are
they ‘different’?

4. mooin initially proposed to answer that the 5" °12 are not °p2 in all the
2°1°7, and the reason he mentions WY is because 77w is more MW than the
others, but 1"92 really is removing all the concerns.”® Why does not mosoin
merely say that the 705 of nnw? is more mow, therefore the 1127 were
concerned to prevent it, however the other 07105 happen so infrequently,
that the 73127 saw no need to address them?! This would also resolve the
difficulty from the X012 of X2 7211 which Mo cites.?!

5. Mmoo proves that the wwn is only on account of nnwH from the X3 later
(on 2,0);?? indicating that we are assuming that which the X3 concludes
(here) that 7> 937 177 ™90 2no.? If we assume that °1°>77 >190 are "3,
then what is mM201N question that why are we not concerned about 1210, etc.,
since the *750 are >3, the only concern is for 72w? that perhaps he found a
v which was "1 w2 MW, but there can be no concern of 1217, etc.!?*

20 See footnote # 9.

2 See v"aWT XM,

22 See footnote # 11.

23 Otherwise what is maon proof, for perhaps (certainly) that X723 is only according to the X1pon.
24 See *"19 and 5 N 7"
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